1.

Write Carlos or Megan in each blank.

) OO RR had a difficult life in the past.

B) e would feel better if he/she was married.
) [OOSR wasn't good to people in the past.

o | wouldn’t have kids if he/she wasn't rich.

Write T (true) of F (false) next to each sentence.

......... a) Carlos left school because he had to get married.
......... b) Carlos wasn't a successful business man when he was 30.
......... c) Megan got married when she was 25.

......... d) Megan is a different person now.



